TampoarTaH KkBagpar

apaac n (1<n<=10), m (1<=m<=90) xyBbcarynan aepar 6yxan TOOHyyA aBHa. NXN X3aMX33T3M
KBagpartbir TOMOarayyg awurnad 3ypHa. Ksagparbir 65 racaH T00roop KogaoracoH
TOMIOSrT93C 9X/I9H AYYPraHa. TamMasrTyyouir 09nrsusHL XaBA3H KBagparthir 3ypax ssuan
arwwr ycraac 6ycan TaMA3r TUiAH TOO M-H yTraac ux 60nox yen keaapartbir Laall Hb Iy nuaax
3ypaxrym OpPXUHO. H3 YEUIT XYPTAN A3Nr3USHA HANT X343H TAMAIM T X3BNAr ACIHUAT 0S1XK
X3B/3.

Input
n 60NM0OH M-H YTrbIr XOOCOH 3airaap TycraapfaH aBHa.

Output

[a23px HexuUeneec wantraanaH keagpaT 6ypaH acBan OyTyy 3yparaaHa. LnHa MepeHd HUIAT
X3BNAr ICOH TOMASr TUIAH TOOT X3BMISHA.

Example

Input:
56

Output:
ABCDE

FGHI

9
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